N of reco track vs pT

tracks

tracks

E 2 2 2
[ g ] g
10°F- =
E =
F o
10° -
102 L
Fe
10F
1=
3 ° ° °
3 3 3
1 14 o 14 i
....... i
0.95F i : i
’fo* 1 1I0 o ? o 1 1I0 02 3 1Io 7 ? o 1 1Io 7 3
tra%ﬁ) P, (Ge\%) tra&lg P, (Ge\}f) tra%&) P, (Ge\}f) tra&l? P, (Ge\}fJ
—— DQM_original_1000evt
—— DQM_fitted4_T000evt oo |
1%} %] (%]
x X X
Q [} Q
g g g
E 2 s
E K] 8
a
pm}
°

10°

I N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

+ﬁm{+

track n
N of reco track vs phi
2]
o T
S .
3 bo.... beeeedeaas P P

+++HH‘+++++‘}'H++++H++++H~H++++++

-3 -2 -1 0 1 2 3
track @

track n

N of associated (recoToSim) tracks vs phi |

true tracks

¥+++H++++++H’+++++H++{++H+++++++

0¥ F T 1 o0 1 2 3
track @

fake tracks

track n

Ratio

=3 -2 -1 0 1 2 3
track n

N of associated (recoToSim) duplicate tracks vs phi |

duplicate tracks

Ratio

o -3 -2 -1 0 1 2 3
track @



	Contents
	Page 1


